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SUBJECT- PHYSICS
Unit & Dimension (DPP-1)

Objective questions:-

1.

The quantities A and B are related by the relation, m=A/B, where m is the linear density and A is
the force. The dimensions of B are of

A. Latent heat B. Pressure C. Work D. None of the above
Force F and density d are related as F=af3+Vd then find the dimension of a and .
A. [LY2M 3/2T2] B.[L-Y/2M ¥2 T -2]

C.[L1M3/2T 2] D.[L1M"2T -2]

Given that m = mass, | = length, t = time and i = current. The dimensions of ml2 /t3i are the same
as that of:
A. electric field B. electric potential C. capacitance D. inductance
Write the dimensions of a and b in the relation: P=b—x2/at
Where P is power, x is distance and t is time.
A. [MoL2Te], [M-1LoT?] B. [MoL2Te], [M1L1T2]
C. [M1L'Tz2], [M°L2To] D. [M-1LoT2], [M°L2T°]
a=F/vzsin(ft) (here v = velocity, F = force, t = time)
Find the dimension of a and 8
A. [MoLz2Te], [M—1LoT2]
B. [Me°L2Te], [M—1LiT2]
C. [M1L'Tz2], [M°L2To]
D. [M-1LoT2], [M°L2To]
The time dependence of a physical quantity P is given by P=Poe-2. where a is a constant and t is
time. Then constant a is / has
A. Dimensionless B. Dimensions of T-2 C. Dimensions of P D. Dimensions of T2
The velocity v of a particle at time t is given by v=at+b/(t+c) where a, b and c are constants. The
dimensions of a, b and c are respectively:
A. 12 TandLT2 B.LT-2 LandT C.LT2,LTand L D. L, LT and T2
The equation of wave is given by Y= Asinw (x/v—k) where w is the angular velocity and v is the
linear velocity. The dimensions of k is:
A [LT] B.[T] C.[T1] D.[T-2]

Physics by Er. SARVESH YADAV (For —NEET & IIT-JEE)

Web-WWW.Resilienceneetiit.com Address- 1% Floor Pratap Bhawan, Hazratganj, Lucknow - Mobile No. 8887579768



9. Aforce is given by F=at+bt2, where t is time, the dimensions of a and b are respectively:
A.[MLT-3] and [MLT"] B. [MLT-4] and [MLT-1]

C.[MLT-*] and [MLT®°] D. [MLT-3] and [MLT-4]

10.If A, B and C are three physical quantities such that A and B are of same dimensions while C has
different dimensions, then which of the following may be meaningful

A.(A+C)/B B.(C-2B)/A C.A/(B+C) D. (2A-3B)/C

11. If frequency F, velocity V, and density D are considered fundamental units, the dimensional
formula for momentum will be
A. DVF2 B. DV2F- C. D2V2F2 D. DV4F-3

12. The dimensional formula of product and quotient of two physical quantities A and B are given by
[AB] = ML?T2 & A/B= MT-2: The quantities A and B respectively are
A. Force and velocity B. Force and displacement
C. Momentum and displacement D. Work and velocity

13. If C the velocity of light, h Planck's constant and G Gravitational constant are taken as
fundamental quantities, then the dimensional formula of mass is:

A. h-1/2G-1/2 Co B.hv/2C1 G-1/2 C.h-v2C1v2G =12 D.hv2C-1/2G1/2

14. The centripetal force F acting on a particle moving uniformly in a circle may depend upon
mass (m), velocity (v) and radius (r) of the circle. Derive the formula for F using the method of
dimensions.

A. F=mv?/2r3 (where k=1) B. F=mv2/r (where k=1)
C. F=mv3/r2 (where k=1) D. F=m 2v2 /2r (where k=1)

15. The volume V of water passing through a point of a uniform tube during t seconds is related to the
cross-sectional area A of the tube and velocity u of water by the relation VecAeubty . Which one of
the following will be true?

A, a=p=+y B. a#p+y C.a=p=y D. a=fB=y

16. Assertion: The number of significant figures depends on the least count of measuring instrument.

Reason: Significant figures define the accuracy of measuring instrument.

A. Both Assertion and Reason are correct and Reason is the correct explanation for Assertion
B. Both Assertion and Reason are correct but Reason is not the correct explanation for
Assertion
C. Assertion is correct but Reason is incorrect
D. Assertion is incorrect but Reason is correct
17. If K=d4x/dt* find dimensional formula of K :-
A.[L4T-3] B. [L4T-4] C.[LT4] D. [LT4]
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18.If E, m, 1 and G denote energy, mass, angular momentum and gravitational constant respectively,
then the quantity (El2 /m5G2) has the dimensions of then
A. mass B. length C. time D. angle.

19. If velocity of light ¢, Planck's constant h and gravitational constant G are taken as fundamental
quantities then the dimensions of length will be:

A.Vch/G B.vhe3/G C.vhG/c3 D. VhG/c5

20. If force F, acceleration A and time T are taken as fundamental quantities then the
dimensions of energy are :
A. AT B. F2T C.FA T D. FAT=

21. If E and G respectively denote energy and gravitational constant, then E/G has the dimensions of:
A, [M2][LA][T°]  B. [M][L][T] C. [M][L°][T°] D. [M2][L-2][T-]

22 If energy (E), velocity (V) and time (T) are chosen as the fundamental quantities, the dimensional
formula of surface tension will be
A. [E2V-2T-3] B. [EV—2T-1] C.[EV—2T-2] D.[EV'T-2]
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